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 ������������������������ !"#�$��%&�$�'���!()���*+,�-���������(�./01�"2(34�567�����89: (1){(4) ,;<((5),(6) ��.=�(1) y1 = ddx �8 + 3x5 + 12x + 5px� (5) >?@ABC�DE(2) y2 = ddx (ex + 2 sinx+ 
os x + tan x) dndxn (f(x)g(x)) = nXk=0 nk! f (k)(x)g(n�k)(x)(3) y3 = ddx �
os x sin x+ log xx � ,F�!G(y5 = dndxn �x2 sinx� ,;<=�(4) y4 = ddx �log 3x+ 
os(x2)� (6) 0 < x < � �H!(y = log (sinx) �3IJ,;<(KLM,NO!(PQ,RSGT>U,V0�limt!0 log t = �1 ,WXG=#�89Y (1){(5) ,;<((6) ��.=�(1) I1 = Z �8 + 3x5 + 12x + 5px� dx (4) I4 = Z 
os x(1� sin2 x)dx (Z[\]t = sin x �^#G_`ab)(2) I2 = Z (ex + 2 sinx+ 
os x + tan x) dx (5) I5 = Z dxx2 � 25(3) I3 = Z x4 log xdx (6) cd r �e�fag�r2 1h���,(ab,WXGijk=�89l IJ f(x) �m#G(x = a nop�(qr>rstguE1Mvw��x�(1){(3) ��.=�f(x) = f(a) + 1Xk=1 f (k)(a)k! (x� a)k(1) ex �H��x = 0 nop�qr>rst(yz{r|[st) ,34k=�(2) e0:1 ,)J} 2~n1;<=�)J}3~�����k=�(3) log(1 + x) ,x = 0 nop1qr>rst!(4u��n1�k�89� u�(1){(3) ��� 3����2�,��!G�.=�(1) z = e4xy �H!G(����3IJ,�SG;<=�(2) z = log(x2y2) ����x = r 
os �; y = r sin �; xy 6= 0 ��� �z�r ; �z�� ,;<=�(3) z = f(x; y), x = r 
os �; y = r sin � ���(uE,�k���z�x�2 + ��z�y�2 = ��z�r�2 + 1r2 ��z���2


